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Geometry Vocabulary Test Review

1) On a number line, the coordinates of A and B are -11 and 34, respectively.  What is the coordinate for the   
 midpoint of   ?  (Show the algebra you used to find the midpoint.)




2) The three building blocks of geometry are: __________, __________, and __________.
  Explain why these “building blocks” are considered to be undefined.


  
3)  Complete the statements below.  Then, write the letter for each statement under the correct picture.

a) Through any __________  noncollinear points there is exactly one plane.

b) If two lines intersect, then their intersection is exactly one _____________.

c) If two ___________ intersect, then their intersection is a line.

d) Through any two points there is exactly one __________.
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CHALLENGE QUESTIONS:
6) 






   C is the midpoint of , D is the midpoint of , E is the midpoint of , F is the midpoint of    
   , G is the midpoint of , and H is the midpoint of .  If DC = 16, what is GH? 
           (Hint:  Draw a picture…start with  which will need to be really long!)








7) [image: ]    Use the diagram at the right.
       a)  What algebraic expression represents GK?



       b)  If GK = 30, what are GH and JK? 
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Complete each statement with always, sometimes, or never to make a
true statement.

48. Opposite rays _? _form aline.
49. Three distinct points are _? _ coplanar.
50. If two distinct planes intersect, then their intersectionis _? _a plane.

51. The intersection of two distinct planesis _?_ aline.
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Can you conclude the information stated from the given diagram?
a. M, and D are collinear. b. AB = BC
€. BC contains A. d. E, F, and B are coplanar.




image8.png




image9.wmf
AB


oleObject1.bin

image10.wmf
AC


oleObject2.bin

image11.wmf
AD


oleObject3.bin

image12.wmf
ED


oleObject4.bin

image13.wmf
EF


oleObject5.bin

image14.wmf
DB


oleObject6.bin

oleObject7.bin

image15.png




image1.png




image2.png




